Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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different problem types. (12 Marks)
Explain the basic asymptotic notatlons used to check the algorithms time efficiencies with
diagram. ) g (08 Marks)

OR

Describe the general steps used to obtain ti’me% mplexity for non-recursive algorithms.

A (12 Marks)
Write an.a gtmthm to compute n! recursWely Set up a recurrence relation for the algorithms
basic pperatlon count and solve 1t ) - (08 Marks)

i

Module 2
Write an algorithm to find minimum and maximum element of glven array. Prove that

algorithm in efficient. %, | (10 Marks)
Explain the Strassen’s m: th suitable example and analyse it using
master theorem. } i .. (10 Marks)

Kruskal s algorithm.. xpklam with sultable'"”“example (10 Marks)
s 0 = 4 and profits =/{10, 30, 25, 55} and weights = {2, 3, 5, 1} with
capacity m = 5. Fmd the optlmal solution for this using Knapsack problem under greedy

method. {7 (10 Marks)
OR

Explain the heap constructlon Sort the given elements {30, 13, 57, 24, 10, 6, 19} using heap

sort. (10 Marks)

Construct a Huffman tree “for the following data and obtain its Huffiman code:
Character | A| B |C|D | E | -

Probability [ 0.5]0.35[0.5]0.1 04 ]0.2
Encode the gl\ién data: DAD (10 Marks)
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Module-4 N
What is transitive closure? Write an algorithm to ﬁnd 1 ;ransmve closure of the given
graph and mention the time complexity. gy N (08 Marks)
Write an algorithm to find shortest path from every Vertex to remaining all vertices. Apply
the algorithm to find all pair shortest path for the gl\f n graph [Fig.Q7(a)]

(12 Marks)
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(14 Marks)
Explain the reliability demgn problem under dynamic programmmg approach with suitable
example. . &% .® (06 Marks)

Explain the bax: tracking method. Find the ‘solution for u- queens problem with the help of

state-space tree = (10 Marks)
Write an algorithm to find solu i Nfor the graph colormg problem. Explain it with suitable
examplei, . (10 Marks)

OR

Y,,What is branch and bou «(d techn1que‘7 Appkgz ‘the branch and bound design strategy for
“assignment of _]ObS to' the grven matrix.

(12 Marks)
Write short notes on: '
(i) NP complete problem
(i) NP hard prleem
(iii) Travelling' salesman problem
(iv) Subset sum. problem
Provide sufficient examples for each. (08 Marks)
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